RRT Y 2—IL(HP)

#4 [ENEK-173F 27
B 2025458178 (+)
£15  HRGSP

[K-1% v X(2E) &K-1¥ 2 = 7 (R 4E) DER]

HhFIY— BFRT - HERME HARmEM —fREAiS
18 K-1%yXBY 5 X/CY 7R 8:45~9:15
9:45 9:15
288 K-1% vy XAV R /K-1¥2 =7 10:00~10:30
K-1% v X Cr 72 TRy F 3-AFEEBR 1#He 1
K-1% v X Cr 7R Ty F 5-6FEEBR 1&5a 2
K-1% v X Cr 72 TRy F 1-2FEBBR AFAE 3~6
K-1¥% v X Cr/ 72 TRy F 3-4FEBRBR 5EA 7~11
K-1% v X Cr7 2R TRy F 5-6FEERBIR 3FA 12~14
K-1¥% v X Cr/ 72 TRy F 3-AFEEBR 1#He 15
K-1% v X Cr 7R Ty F 5-6FEEBR 1=a 16
72y FRE CH T RK-1% v X(h4)

K-1% v X(&F) B 7R F=Fx> b 3-AFEBRBR AR 2:HA 17~18
K-1% v X B 7 & F=Fx> 3-AFEBRBR AR 1#He 19
K-1% v X B 7 & F=Fx> 3-AFEEBR AR 1#He 20
K-1% v X B 7 & F=Fx> b 5-6FEERBIR AR 2:A 21~22
K-1% v X B 7R TRy F 3-AFEBRBR 1#He 23
K-1¥% v X BV 7 & TRy F 5-6FEBRBIR 3HA 24~26

73y FREBY 7 RK-1% v X(IhFE)

K-1% v (& F) AV TR TRy F 3-4FEEBRBR 1=5E 27
K-1¥% v X AV Z R TRy F 5-6FEERIR 1=5E 28

7Yy FRE AV 7 RAK- 1% v X(NEE)

K-1% v X(&F) B 7 & F=Fx>t 3-4FEEBRBIR REE 1=5E 29
K-1¥% v X B 7 & F=Fx>t 3-4FEEBRBIR REE 15E 30
K-1¥% v X B 7 & F=Fx> b 3-AFEERR REE 15E 31
K-1¥% v X B 7 & F=Fx> b 5-6FEBRBIR REE 1=5E 32

F—F A FERE BY 7 RK-1% v X(I4E)
k38 (15%)
AV TR F=Fx> b 3-4FEEBRBR LR 1=5E 33
BY 7 & F=Fx> b -45kg H L RRE 13e 34
Cr/ 7R TRy F -45kg 1RE 35
Cr/7 R TRy F -50kg 1#E 36
Cr/ 7R TRy F -55kg 1RE 37
Cr/ 7R TRy F -60kg 2:A 38~39
T2y FRE CO 7 RK-1Y 2 =T (FE4E)
K-1% v X(&F) AV Z R F=Fx> b 5-6EEBRBIR #5 1=E 40
K-1% v X AV TR F=Fx> b 5-6EEBRBIR 27AE 41~42
g AV TR F=Fx> b 3-4FEEBRBR #5 27AE 43~44
BV 7 & F=Fx> b -45kg #5; 2:A 45~46
BV 7 & F=Fx> b -50kg 2:A 47~48
B 7 & F=Fx> b -60kg b 2:A 49~50
AV TR F=Fx> b 5-6EEBRBIR 1=E 51
K-1% v X AV TR F=Fx> b 5-6EEBRBIR 1=HE 52
g AV TR F=Fx> b 3-4FEEBRBR 1=HE 53
B/ 52 [ -45kg e 54
B/ 52 [ -50kg e 55
B/ 52 [ -60kg e 56

b=Fx> b REBY 7 K-




